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class Examp1 {
public static void main(String[] args) {
System.out.printin(“Examp1!”);

}
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class Examp1{
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public static void main(String[] args) { ... }
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public static void main(String[] args)




System.out.printin(“Examp1");
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1. int A =60;
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int A;
speedLimitA = 60;
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int speedLimitA = 60;

A =120;
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int A = 60;
float A;
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class BooleanExample {
public static void main(String[] args) {

boolean flag = true;
System.out.printin(flag);
}

}
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class ByteExample {
public static void main(String[] args) {
byte range;

range = 124;
System.out.printin(range);

. Il Error code below. Why?
0. // range = 200
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class ShortExample {
public static void main(String[] args) {

short temperature;

temperature = -200;
System.out.printin(temperature);

}
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BOoNoO,r®ONE

I

int

sl sl A YT B YT 5 sl Ll e N sl g g

30 ollie BBl b Cadle Oss s T o 3 115 e e S e 3lizul du 4 JAVA 8 51 S
S o3lizal VY ldde S T

VIPA e e
Tl

class IntExample {
public static void main(String[] args) {

int range = -4250000;
System.out.printin(range);
}

}
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long -0
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1. class LongExample {
2. public static void main(String[] args) {
3.
4. long range =-42332200000L;
5. System.out.printin(range);
6. }
7.}
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class DoubleExample {
public static void main(String[] args) {

double number =-42.3;
System.out.printin(number);
}

}
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float -V
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class FloatExample {
public static void main(String[] args) {

float number = -42.3f;
System.out.printin(number);
}

}
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class CharExample {
public static void main(String[] args) {

char letter = \u0051’;
System.out.printin(letter);
}

}
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class CharExample {
public static void main(String[] args) {

char letter1 = ‘9’;
System.out.printin(letterl);

char letter2 = 65;
System.out.printin(letter2);

}
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myString = “Programming is awesome”;
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/[ Error! literal 42332200000 of type int is out of range
long myVariablel = 42332200000;

/[ fYYYYY.. s . Lis of type long, and it’s not out of range
long myVariable2 = 42332200000L;
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/I decimal
int decNumber = 34;
/I +x represents hexadecimal
int hexNumber = Ox2F;

/I +b represents binary
int binNumber = 0b10010;
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class DoubleExample {

double myDouble = 3.4;
float myFloat = 3.4F;
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10. System.out.printin(myFloat);

public static void main(String[] args) {

double myDoubleScientific = 3.445e2;
System.out.printin(myDouble);

11. System.out.printin(myDoubleScientific);
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class DoubleExample {
public static void main(String[] args) {

char myChar = ‘g’;
char newLine = ‘\n’;
String myString = “Java 8”;

System.out.printin(myChar);
System.out.printin(newLine);

10. System.out.printin(myString);
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